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INSTRUCTIONS TO CANDIDATES

1. This Booklet conlains 200 guestions in all compriging the

Tollowing four parts
Part & :General Inteligence and Reasoning (50 Questions)
Part B :General Knowledge and General Awareness (50 Questions)
Pan C ;Quantitative Aptitude {50 Questions)
Part D :English Comprahénsion {50 Questions )
2. In questions sel bikngually in English and Hindi, in case of

discrepancy, the English version will prevail.

All questions are compulsory and camry equal marks,

for each wrong answer,

You will be supplied the Answer-Sheel separalely by the
Invigilator. You must complete and code the datails of Name,
Roll Mumber, Ticket Mumber and Booklet Mumber in the
Answer-Sheet carefully. You must also pul your signafure and
Ledft-Hand thumib impression on the Answer-Shesal al the
prescribed place before you actually start answering the

3
4, The paper camies negalive marking. 0.25 marks will be deductad
5

questions. These instructions must be fully complied with, failing

which, your Answer-Sheel will not be evatualed.
6. Answers must be shown by complately blackening the

corresponding circles on Side-11 of the Answer-Sheal against the

relevant question numbaer by Black/Blue Ball-point Pen only.
Answers which are nol shown by Black/Blue Ball-point Pen will
not be awarded any mark,

7. A machine will read the coded information in the OMR Answer-

Sheel, In case the information is incomplele o different from the

information given in the application form, such candidale will be
awarded ‘ZERQ" mark.

g, Tha Answer-Sheet must be handed owver to the Invigilator before

you leave thae Examination Hall,

9. Failure to comply with any of the above instructions will render a

candidate liable 1o such action/penalty as may be deemed fi

10. The manner in which the diferent questions are (o be answerad

has been explained at the back of this Booklet (Page Mo, 28),
which you should read carefully before aciually answenng the
queEstions.

1. Answer lhi questions as quickly and as carefully as you can,
Some questions may be difficull and others easy. Do nol spend
too much time on any quasttn

12. Mo rough work is 1o be done on the Answer-Shaal. Blank spaces

provided at various places in the qeestion booklel may be used

for rough work
13. “Mobile phones and wireless communication devices are
completely banned in the examination h 5.

Candidates are advised not to keep m

wireless communication devices with them e
off mode, in their own interest. Failing to comply
provision will be considered as using unfair means in the

examination and action will be taken against them including
cancollation of their candidature and future debarrment from

appearing in examinations™

ﬁmﬁ,mmﬂ#mmﬁ afﬁlﬂf-rﬁl

mgﬁ'{mﬂﬁlmmi.ﬁﬂﬂmmﬂm&

w

NI & - T gfae vl ahuira (50%WH)
HTIT B - W e OF Sl Sl (S0 v

9T 91 ETeAE iR S0 W)

¥ o A afraes |50 % )
3t 3 Fed ey 3 S v o fnardh wet 3 il ity
g1t 7y ey 3 3 Feor s gl |
w¥ v e E A ks et w |

wHE U A AETCRE He g1 I e 8 T 0,25 3 e
FATT |

Ferfiarer Zama 3wt Seag-utien waa & & sl | oo afeae &
st & W Cer e W A, T A, e e i
FEAT FEa Wy e | w3 o A E w0 R
ForH i o Fhfe s 3 o v geeer v A g &
s & e oft vy o | o weght | gl aeE mwm?
T T, St by Sea-a e & w3 |
Feer-afie 3wl St side 0 4w R F AR AT .
Frateud AT wA ) S s eTe e S A g |
v s | 3 vy wet e ate-uige S Al s
T, T Torw ik 30 At R @ |

W v MW, 3ea-atier & s el qge woe & v A gl |

o e 3quh & e yrieer oo 3 £y awk guen & e Ao
wrat o e T S |

erfrem g ot & v afvearel) = sear-afm e & oot e
i mfEe |

T Fghwt o o fielt o w oft v A e w eilEE T
frdwran s 1 3 wweh b mavs R award |

. Tl wEl & sear e 6 Rl o gitees & o (g @ 28) A

o gy ket A& & Sk b ey o & Teaw & O upe g
qE |

. W ¥ Tee Faaeh Sl Y I o GOl & | 0T N

o s e | Pl o A O aga e e A A |

. w7 wr Ter-afier or af wen b | I gftaw ° Rfies

Tl 9T YRR WA AwEl 9T 7% & e 3 e #

~gftem g WY A atarwer v A dET WA A itar

e ¥ sexfigant vt 3ak wva e & s &t wrdt b e mvamw
wher et aremr day e w6 e s wek At v R T
78 | FE TR T NG 7 e w1 ol 2 gt yoatar
wmhar Fay AreAT M 3o e wrdady F sreat, 3l it
T wT da e sfder & aratfara € et ot ofenat &
wfEnfam gt & afw Rear srear [~

CVA CLASSES —94/338%
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Part A :General Intelligence and Reasonin

2) CARS

westion Nos. 1 to 2

39AG =T H >

sa! of numbam as given in am-f e of he alternatives.
: \
a ﬁ.ﬁ;} fﬂ%ﬁu W/

mm‘ ces given below. The m?umns and rows of Matrix |
are numbered from 0 o 4 and that of Matrix Il are
numbared from 5 to 9. A lelter from these malnices can
be represented first by its row and next by its columnn,
le.g., ‘A’ can be represented by 01,20 elc., and ‘B’ can be
represented by 56,65 ele. Similarly, you have to identify
|the sel for the word given in each question,

UF Weq der UF HEA-HHE ganry autar arar & Har
& Raeal & & Bt vw o By o @ Baeat &
R v wear-wRE sant & gt ant ganr qvfv av ¥
ey B i Be o gt armpt & B wrege | F =R
e GfT & Fear 0 #4 7 & @ S s #
5 & 9. g7 Hreygl & v ew & gpe 3w & T
Jilv @ # wTR wEr ganr vtar e g &
Jeprer & fow AT &t 01,20 anfe ganr autar ST awar
& T B &) 56,65 yriE gamw awlar s maar & gt
TR & IO wE A Br wem & AT gEy & g
&

r q ") it :"Eﬁf IM_Tgﬁ_l;:!l.!mt..'!'

e&wf (>/6/7/8/9

é \ Q A ﬂaé{-fi-ﬁ"*&*ﬁ_ KIT|C
A .

.

E
1/w[P
) AEEEﬁ
RIE A 2ICIRIBIS|]
9, 00823 97y~ ‘ B)!
L ToNes. o hadr v )477,33, 40,69 |

3) If '+ stands for multiplication , '-* stands for division, 'x'

stands for addition, '+ stands for subtraction, then which one
of the following equations is correct?

gfe '+ rE vk - kA v IEFRTE -
' mEW & Rv & PR & @ sta-ar wderor
e g

A} 12x5+4.5+4=20 |B) 1245.4x5+4=16

C) 12+5+4-5x4=18 D) 12+5.4x5+4=22

4) Which figure best represents the relationship between
Religion, Mosque, Temple?

Fie- i 3rpter wH, Afeae, Al & &g gau = i

1) SILK
MATRIX - | (¥TERE - 1) MATRIX - [l (¥r=gF - )
0[1]2[3]4 5/6/7/8[9
0MLIFHB| 5LKSUN
1/HBMLIF| [6/u/N|1|K/S
2[L|F/HBM [7/K[S|U[NI
3/BIM|LIF/H |8/ N|I[K|S[U

4 FIHIBIML 8/5/U/N[I[K

A) 76, 66, 33, 68 B) 76,67, 32, 68

C) 76.67.33. 68 f D) 76,6732, 65 |

Zafer o
TR K N~ ~
A) B) c)
Question Nos.5to 7
T EETS# 7O

Directions / IAder: A series is given, with one / two ferm

missing. Choose the correct alternative from the given |
ones that wil complete the series. |

oF HgFH Bar & fFad ow /et v gy B R oaw
faweql #F & aF FE Reey gv at yg@a & @
]

5) 6,6,10,11,14, 16, 18, 7

i
A) 20 B 2 | |

c) 23 D) 19

B

P 23 22AID AV
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Part A :General Intelligence and Reasoning TR ¥ ; AT gidee od ke

6) /ZbYa XNdWe VIUE _?

Question Nos.14 to 19
B) Tgsh ' T WA 14 # 19 7%
C) Ths: D} ShTg Directions / fadRr: Find the odd word / letters / number
pair from the given alternatives.
7) 4,6,8,12,14,18,20,24,30, 2, 7 BT v Bweal A 7 [Fww wwg / e/ e g
A) 32,33 B) 32,34 gt

w2436 14)

A) 3375 B} #2%
Question Nos.8 to 13 ) Dj
¥ 7T 8 # 137w C) 235 D) 30625
Directions / fader Select the related word / letters /
number from the given alternatives, 15)
fawegf HFGle T HERT / HET
ke v 7o e #t { A) Cynicism / Zrefiiar i B) Fatalism / e

L) pessimism/ formmarr D) Optimism / 3mamarg
8) 16:64::49:7

Rk 16
C) 19 D) 97 A) FHIL By Tvwy [

C) ACEG D) IKMO

9) brain : natural :: 7 : antificial

ATETsE : Al 70 FEAA 17)

E] gumpul-::n i minum!!.-“mﬁﬂ A) 1GEC B) YwUSs
C) forests / el deserts / YTrEaT C) QOMK

18)

|

| 10) UASC: YEWG = DHLO : ? :
I 1 L Aj e e m E} n_b ¥

| A) LHUS B) HSPL Crninge / r Crisp / HIH

C) HLPS D). HLOD C} Crunch / T B} rinle / e

11} heat : calonie :: sound : 7 19)
I el - a7

' [R) 25 | B) 2
Al knot AT B) . -

| J"Ul':.‘ = c] 15 n:_ | R
L ©) richier / R rni decible ﬁ
| Question Nos.20 to 21
12) 36:50:64:7 T e 208 21 9%
- : Directions / fAdw: From the given alfernative words,
! Al 10 select the word which cannot be formed using the letters
C) &2 D) 72 of the given word: .
fRrsfaf@a Resat & & ap weg giAe, 5 Bv aw
13) R:ARE::U:? dreg & el & gFeT FIF ApT aEr ST ST
A) VEE B} YOl
| [c) e ' D) URI

AS2016 7 1225062 ﬁh I E” EI Gi P.T.O




Part A :General Inteligence and Reasoning W < HTRT qfRaT i
20) GEMDISTIONARY Question Nos.26 to 27
A) GAME B) STAR N WEIT 26 # 27 O%
fmﬂﬂ D) MEGASITY ﬂfreqﬂnns / R In the question Onie or two stalements
are given, followed by two Conclusions, | and Il You have
to consider the statement to be true, even if it seems fo
21) AUTOBIOGRAPHY be at variance from commonly known facts. You have fo
F decide which of the given conclusions can definitely be
A} TROPHY [ B) l:jmrln{:{ drawn from the given statement. Indicate your answer.
C) BRIGHT D} TROOP W#WWE”W.@FW#WW&?
e | & I Fawre anr @ st framr s f
Question Nos.22 to 25 FFAT F § A aF wAeTa Wa 23 & Ber
W HEAT 22 ¥ 25 TF g g gl araw! fvkr wwar § B R v sy
Directions / fa#er Select the missing number from the # & dla-ar Ao &5 & gt Fewy @ErEr ST
lgiven responses. FE B 9 3o & R i
Rr v Reeul & & aoo y& wa #iae

26) Statement |

22) 25 36 64 Economic secunty makes people better and happier and has a
LY 'i 4 good influence on their personality.
i B e e st w dgat 3R 3 guee e & i
A) 19 B) 22 3T Tafaheed OT 3E0T W ST B
1 c) 16 D) 14 Conclusion / = |
: L. Peaple who eam enough money are happier, |
i et e e AT € o e e B Y |
23) Il. To have a good personality people should be |
e .f._? economically sound. |
!‘G W oo eafaae wee fue & e e e s e @ |
Pa g FSTE g T |
A) B B) o . |
c]' - D] : A) Only 1 follows, B) Only 11 follows.
! ) | ) 3 ¥ad s | Awaar Fad s 1 e
24) o 11 25 T m
B ll'j 16 C) Neither | nor 11 follow, D) Both [ and 11 follow,
123 2 forserdy | 3T 11 F & foreard | it 11 2t
A) 18 B) 22
| 576 - F§ AT e § foreere #)
E I
|
25) 6 5 3 10
2 8 T 4
4 6 3 b
5 9 15 3
A) 7 B) 6
0
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Part A :General Intelligence and Reasoning

WT % : AT fiEm v ki

27) Statement /| THFIET:
1) Authors are learmed people,

31) 12 year old Sami is three tmes as old as his brother Vinay.
How old will Sami be when he is twice as old as Vinay?

|2 T & WIAT W9 R 3 it I aen ) w3
HHY Tt gl = a8 f&ag 3§ g7 g e

A) In'l}'rs."ﬂ‘i B) lH}rr:UEI'lﬂ'

€} 29y (_D] 16 yrs /@
Question Nos.32 to 33
T meIT 32 # 33 9%

Directions / A Which answer figure will complete the
pattern in the question figure?

wie HY 3eaT T v T & ufaw S g s

A e g 8]

1}y Some Doctors are authors,

%08 BTy AW g1t

1. Some Doctors are leamed p-mplu:z.
I1. Some leamed people are doctors,
F TeE st g .

A) Neither I nor 11 is implicit. | B) Both [ and 11 are implicit,
e T n &9 e | Al 1 2w
FE FE AL g il

C) Only I is imphicit. D) Only II s implicit.

Faw et | wi Faw forerd 1 A B

23} If RAMAYANA 13 wriiten as BOBZRNBS, then GRANTIH
IS Writlen as

AT RAMAYANA F BOBZBNBS forar Fmar &.ar
GRANTH &1 %3 forar smoam?

A) TUOBSH

C) IWOCSI

B) HSBOUI
D) IVPBTH

Question Nos.29 to 30
T e 29 F30a%

Directions / f3dr: Arrange the following words as per
order in the dictionary.

Bf@a vt &t semwtyr & R av a7 &
e faalf

29) 1. Analyze
3. Armival
3. Analyst

2, Assignation
4. Azspssinalion

Ay 24513 B) 13,524
C) 51,343 D) 142,53

30) 1. Directoral
3. Directive

2. Directory
4. Directional

A) 34,12 B} 3421
C) 43.1.2 Dy 1342

ASH0N6 ¢ 123850

32)

33)

FaWaAWAN E

".J’rr:LJZ

PR,
AL
.wf_{

A)

34) Which one set of letters when sequentially placed at the gaps
in the given letter series shall complete it?

a1 715 AT AT A WIe] FUIT 97 Hegd § Haae
FATe 9T HEHT T Hi-7 HHE IW 9l 497

o= TIN =TI = 1M1 - 500 - %

D) nxyms

A) nmxxn

C) sminxs

ST FETTroT

AreFTR

P.TLO




Part A ‘General Intelligence and Reasoning

W % ; ATaTE il v

35) How many triangles are there in this figure?

H T A fneat B 2

A) 9

36) Secta and Ram both start from a point towards North. Secta
tums to left afier walking 10 km. Ram ums to right afler
walking the same distance, Seeta waits for sometime and then
walks another 5 km, whercas Ram walks only 3 km. They
both then retumn to their respective South and walk 15 km
forward. How far is Seeta from Ram?

Hram 3T T g U T A 3eaT B 6T O yE
a0 T aesr e A A i s dred
TR &1 {3 AT ) WA $OE 7EG S Hh & i
e s faet sty oo & safE ow Faa 3 el awan
1T & XAt 3 wa T gfEvor R A wte & i 15

B) 12
D) &

Tt 31 gor B A T A e el ar
A) 10 Km /e B} 12 km/ et
C) 15 Km/ Rl [“:' Elcm;ﬁr.ﬂq

Question Nos. 3T to 38
T AEGT 3T & 38 A%

Directions / 33 From the given answer figures, seleci]
the one in which the question figure is hidden‘embedded.

& md e srpfaat & & 35 3w wEla ® glAv
faeet wa ampla g &

arn)
o
(@@ \
\ v—=r /
N
— ===llli==] == ]
_:".:_. = _,:"-;_.___ - -.._‘l l_.l": 1_\"‘"- > .. .‘I I
N i“:' \}_ W &b ~N @ il A g i A
N | | N st
A) B) C) D)

38)

s . = 1
. NP
)%‘ | X 'JCIF:'W*;
i \ : N LA

b | I F
g L I}; Y

39) A man stars from a point and moves 9 km South and then
tums to East and goes 3 km. He tums South and walks 3 km
and then moves & km fowards West. How far 15 he from the
starting point?

U HIGH! Ueh FUTH & Tolall 34 Fea & HT 356 o fnslr
efavor 31 Sren & 3T 79 g 9 A Fge 3 TRl S ) R
a aftror # sz 3 el awar @ i e s el offaw
7 FTer ) W HE v o aE e e i

A) 12 B) 11
[57] 0 1

40) Four portions of a cube are shown below. Idemify the
numbers at the bottom when top 15 67

AR TFTTHF I R T AT g o ImE e ar
ol hT HEAT aaTsT

A . Y ,-f’.;‘x
[n ] -
e D) 5

41) If LACK is written as 396 then BACK s writtenas
Tf LACK %7 396 Tor@r Fman f Y BACK #1 %8 f@an

PR ] i
A) 72 B) 56
0) 86

AS2016 / 1236892
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Part A :General Inteligence and Reasoning

T W - WHTe A v A

42) The number of squares in the figure is?
=0 Al A/ ot fr du et

A) 14 B) &

43) A bus starts from point A and runs 20 kms towards South,

turns to its right and runs 25 km. It then twms Aght again runs
20 km.Aflerwards it runs 3 km in the East direction and
reaches point B. How far 15 the bus from the starting point?

o aW A g o oF S At 20 R 2fEr $ir
T AT &, T 39w 210 et 25 TR aadt ) s
E1T T 20 Rt aeet ) sok A e gd R A 5

Ferat arerelt & i B g ov wie =l &) v anfies fig &
Tt g &7

Question Nos.43 fo 44
5 H8AT 43 7 44 7%

Directions / A2 If a mirror is placed on the ling MN,

then which of the answer figures is the nght image of the
given figure?

i vw gdor & MN Yar ov @r s at & 7F 3w
sirgtaal A & st wgla wh gl & adt
giafara glaft?

A 20 km ¢ Fsht

43)

C) D)

.'. i !.. i LF
/i L)
A% |\

C) D)

AS20N6 /12360452

B) 30 km / Fly

C} 35 km / Reht D) 25 km /et

46) If "+ stands for division * +' stands for multiplication, "x

stands for subtraction and - stands for addition, which one of
the Iollowing is correct?

g M EReE v E A g v e F Ry

e desRr aReREadasafd
A) 18x6+7+5-2=16 B) 18 + 6x7+5-2=22

D) 1IR46+ Tx5-2= !H_}

C) I8 + 6-T+5x2=20

Question Nos. 47 to 48
¥ HEUT AT & 4B a%

Directions / f@dfr: A piece of paper is folded and cut as
shown below in the question figures. From the given
answear figures, indicate how it will appear when opened.

el wm MrEiaal B ORwnr Waga see &t my a7
Fred AT e F @i aF [ 35T yEls A
fears e

47)

| e
: i |
TR,
I | I - | =V
[ . f =
(L ': l £ I 180
| I.-'.':"'? 0 ML |
| o |l B
L d| s |[[aL
A) |- _E}_ L 'I:',i | .D}

HT1.0




Fart A :General Intelligence and Reasoning

AT ¥ ;AT il A i

48)

-

e *u
>
h ““
r v

A)

49) 1 walk 12 km to the North, then 10 kilometres East and then

EEE .y

&

<><>

&

D)

12 km South. How far am | from the starting point?

# 12 Tl Icar & W gaar .89 10 e, g fr iy
wear & Mt A 12 fET 2fEor £ i gaar § A i

A A Fa e
A) 22 km s T

C) 1o km rﬁfn;r_]

50) Choose from the 4 diagrams given below, the one that
illustrates the relationship among Languages,

Crermian.

FrtTaias o sand & & vF Tar 2rans gfae &

B) 24 km /Rl
D) 34 km o/ Reht

37T, ST, STE & ey wa gy )

( 7N

| O Q)

\QQ A
AV LB )

R

C)

= ~
Q)0

D)

Japanese,

ASZDIE T 1236992

FT.O




Part B : General Knowledge and General Awareness

T 4 3 FTHT-T WA T ATHTT AT

ol o

r and General Awareness
2 P s 1 o | R DA

91) Who was appointed by the Union Sports Ministry of the
Government of India as the head of the selection committee
for Aguna award so as to pick the eminent athletes for year's
award( 2013)}

I T 3 41T Aol AT 2T R Hole? GO
& T aoer gfafa & souer P oy G
arfs e (2015) ¥ v ufag vuelie & aaa
T 31 &
A) Justice V. K. Bali
T . . A J T A a4

C) Justice Ranjana P Desai D) Justice A. K. Patnaik

FaraAfd e . FOTOH U %, 9ZATIE

B) Justice Decpak Verma

52) "Slipper animalcule® is the common name for:
"TeA g (vTRAEEE) e arAd AT Y
B) "-.-‘Imu'n;:,-stiv.

[TJI' Paramecium

53} The India Independence Bill was first presented in the House
of Commons in London on:

T wareiere e dea A g13E HTE FAE A 9Eer
& e e dor e

Al July | Fark 4,1947 B) August/ I9TET 10,1947

Cl August 7 3mmEm 1, 1097 rﬂj July / SATE 14,1947 [

P

A) Trypanosoma
Rt=E

C) Mlasmodium
CHIEAITETH

54) Adding Ciz 1w beneene in the presence of AICIE is an
example of:

AlCI & Flaggah & &&= & 1 e o

55) Which anticle of the Constitution deals with money bills:

HRT 7 it e o e & i b
\"'} Article 110/ ¥7e5Z 110] B) Anicle 100/ 357202 100
C) Article 120/ 3gedz 120 ) Anice 130/ 3m7e0% 130

56) If total product is at its maximum then:

afe got seare wo= ¥ilwaw o a, ar
(AP= Average Tu'nrlu:tn'iﬂ'{:lﬁ IR
(MP= Marginal product®TRIT 3791Z)

B) AP=MP=0
C) AP<0 ' D) AP=0

57) A group of genes whose activity is coordinated by a DNA
site is called:

= & T3a wHE & & DA a3 gateas
A IR T FES

A) polypeptide

C) operon |
iR

58) Which of the following siates has declared a ban on the use
of plastic in the state for the first time?

R A d S s EdraR reg A cafies &
9T 97 wicrerer S i

B) polysome

i
D) cistron

et

B) Gujarat/ 5T
) Karmataka /| SATeas

A) Punjah / T

I C) Maharashtra | FETISE

58) Engincers of which of the following countrics have
developed the world's fastest car Venom GT with a top speed
of 435 kilometers per hour?

FrET At iRt a e fHraaa ds
AT avel! FT 378 AT aa #r i o ofrd ol 438

I‘ A | 12380097 ﬁ

JETETT §7 .
- _ fararsiieT ufa ger 7
A) Elimination reaction / B) None of the aptions [ f&W A} Jlapan B) USA
e st 37 4 g Al ST s
) Addition reaction AT D) Substitution reaction / C) Germany D) South Korea
- sfareumrer sfffE STl . amwaR



Farl B ; General Hnnwiedge and General Awareness

T O : WTETE BT 0 AT A

60) Which one of the following has a maximum tendency 1o form
M* ion?

FafEa A F e M7 s e & sfbsan
o BT g

A) P B) i

61) The Greek viewed "politics” on the basis of:
e A T e & Ry e At § wma

g

A) Legalistic terms B) Terms of power

fafos e d Hear & Tive #
€) Both ethical and legalistic |D) Ethical terms ‘
ferms m tﬁ -ﬂ-
Afaw i ffts =
Theaat &
62) A is & computer, appliance, or router that sits

between the trusted and untrusied systems.
TF UHT FEgeT U a1 U3E £ AT

FUEd UE deard Beew & @i g @

B) bridge / fawt
D) switch / e

["‘:' firewall / STET 1A

Erhllh L

63) Which of the following statements about phloem transport i1s
cormect?

SIaTal (FRITH) 9Taea & §aU A Meafaa a
FA-ATFAA TR &7

A) phloem transport ocours B} gravity influences phloem

umidirectionally transport

FATCH IiEe U IECATERRT ST

e g B QAR FT THITAH e
B‘;

) sugar is transported in
phloecm as non-reducing

Ca+ 15 the most abundant
cation in phloem zap

€

FAITH THH Cat Sugar
Y FTTE A T T
At F T & b w aftaes

Bl i

64) India's share in total global trade in value terms is:
Hea 6 vivr & wew fea surary # s v fiaen

v
A} less than 11"2 e
o ot wm

C) more than 2 %
2% ¥ Hiow

B65) Which one of the following painters of Jahangir's reign was
comferred the ttle of ' Nadir-ul-Asra'?

FERTR & e Fe & Prafaiae A & fvg Rasr &
AT -3 Ay I & ok o

B) between 1 % and 2 %

1% 3 2% & a9

D) less than | % but more
than '/ 2%

1% & w1 g Vou
# ¥t

A} Daulat B) Manohar
atele AR
C) Mansur D) Bishandas

L vz

66) Who among the following film makers has won the Best
Documentary Producer award of the Madnd International

Film Festival in July 20157
FraTafaa & & frw fvew Pan & gand 2015 A #ifEs
Feareerd foes AR & wdAss goa e R
QIEHR AT

A) [xebalina Majumdar B) Amn Chadha

AT HaHET T 9T
C)} Benoy Behl D) Gopal Menon
Tem age T FAA

67) Maharaja Sawai Jui singh of Jaipur had not buill the
observalory at

TG ¥ AEnraT Tars A o wEl Rua e
Foraor AET s aTe

A) Ujjain B) Mathura

EEE D) HYAT
[T) Allahabad D) Varanasi
I_C FHTETENG ARTTHT

AS2NE S 1236992
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ST AT - ST ST T AT AR

68) Though there is no single theory which can explain the origin
of south west monsoon, however it 15 believed that the main
mechanism is the differential heating of land & sea during:

BT T FrE v FAgia A8 § S &l affasd
HAierdet B 3eafed B PO F O gy e gl
qt 3y wage & Tt A & s wondr s S
¥y

A) Winter months B) Summer months

HET & AR IHT & TR

C) South-west trade wind D) Cyclonic storms
(i T T
g et affad soraifts

EATHT &1 A

69) The correct sequence of countrics on basis of fish catch in
DESCENDING order:
AT Gehget o WU 97 &31F 7 Had &7 # T8 g

T

A) Japan, China, Peru B) China, Peru, Japan
A, o=, 9% A1, U%, JATT

C) China, Japan, Peru D) Peru, China, fapan
A, T, O o, e, Frarer

70} By which of the following Act the system of Dyarchy was
intreduced at the centre?

TR A ¥ e 3ffags gam & A gfawumss
guTret 2% Fr g oYy
A) 1947
C) 1909

B) 1935

o]

71) The source of authority of the Indian Constitution is:
HIITT WU &1 TSR a@d Sl &7

B} The President

T

D) The Government
TR

A) The "iurm:mu Court

The People of India
A & F

72) When temperature  difference  between liguid and its
surroundings is doubled, the rate of loss of heat will:

o1 At T 38 Haarw & @9 F AIAE Hal AT e
S & & Fwar Fr gl fr gy B gy et

B) doubie
(el

D) three times

eftet I

A} four imes
A AT

C) remain same

3eett g1 Tt

73) John Locke profounded?

ST A = T Mg @ ofagres e
A) Patriarchal Theory B) Social Contract Theory
terer FoaTa AT 69% Rea
C) Theory of Force D) Theory of Divine Rights
7 & fagia & st 1 e

74) An agricultural department known as Diwan-i-kohi' was
created by:

drarer-g- el & v 7 T i s e ggr

SATHT 97T AT
A) Alauddin Khilji B) Firn:-t'l'ughhq:‘ﬁﬂ’l-’:‘f
Harde fawsh —
C) Mohamad-bin-Tughlag | D) Jalaludin Khilji
HEFAE-Ta-gies S AR

73) Which one of the [llowing is related to Advisory
Jurisdiction of the Supreme Coun?

e 7 3 e Hay 3oaqs ~aaeg #r
Haga #fuFiar a g

A) Election Commission
secking opinion from the
SUprCme court

Feadd ~OEET B 1T
A ary FETe
T

President of India secks
opinion on law or facts

Flelsl HYUAT Tl &

B} Siates secking opinion
from the Supreme court

FeAaH FATOTEd W 19
AR AT A5

C) D) Speaker of the Parliament
seeking opimon from the

Supreme court

P T ra ITEAH FTET ¥ 79
AT ki
T & weafa AT AT HE
—— () Heger
AS2016 | 1236902 e ik T, PTO
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| o WTNT W T ATHT AT

76) Inhibition of photosynthesis in the presence of 02 in Ca
planis is called:
Ca gt 7 O &1 #Atggl 7 gy weEwoer & ey

I T T §7

A) Decker effect B) Warburg effect

S W A W

C) Hexose monophosphate D) Pasteur effect
Sl _ IRFET WHT
A AAIRIEDT T

TT) Whoe among the following has been appointed as The
Chairman of India's Oscar Jury by Mumbai based Film
Federation of India?

FrraTafaa # & e s st s e ot
EETT W Y Hiwar ST o Jreaet fergera faman s g2

A) Java Bachhan B) Amol Palekar
FT gea HATE dTeidd

C) Amitabh Bachhan D) Anupam Kher
Hifamw aeaa Hada Wy

78) An emplover goes on emploving more and more of a factor
units until:

it 31l & 3l swew () gfe 7 aw
ST TEaT &7
A} the Average Revenue _-_-h]

the Diminishing Marginal

Productivity becomes Returns sets into

equal to Margzinal operalion.

Revenue Productivity. FTEAR S waeE
F HAE 98

IeUEEHOT & EWET B

oh|

C) the Marginal Revenue o)
Productivity of a factor

the Marginal Revenue
Productivily becomes

becomes equal 1o its FETO,

reward, drara oA IeaEEal
P,

Furers (thae) & drarg o TE T

AT Fedighell 36H

ufcen e a5 |

79) Match Last | and Last 1 and mark the correct answer.

a1 3T w5 1 & e fifar it w6 3w

List I {chimate type) List 11 { station)
it | (FEag sy g E)
a Taiga/&m 1 Jacobabad / A&TEMEE
b Monsoon / AlTHA 2 India/ T

3 Veckhoyansk / SETIFR
4 LaPaz/@T9TH

¢ Alping / Hodqrg=1
d  Desen/ YRream=

B) a=3, ba2, ¢=4, (= ﬂ

D) a=3, b=4,¢=1,d=2

A) a=4, b2, c=1, d=3
C) a=2, b=d, c=3, d=I

80) When average product of an input is at its maximum then:

o Tl o & e soae s iR arErar o
(AP= Average product/ I Ie9mE)
(MP= Marginal productHIHATA I¢91E)

A) AP <MP B) AP=MP
| Cl AP=0 | D)} AP=MP

81) Which of the lollowing considers the state as pnmanly a
social organism?

fFtaiaa 7 & few eiiesor & o=y & arafas gt o7
AR SOaEUT AT 0T 87

A) Historical Approach B) Psychological Approach

oA tftewo FAdAE T
C) Economic Approach D) Sociological Approach
T gfezaror ATATTSE FieeahT

82) In which of the following 1wons, the colour 18 not due to d-d

transition:
frTatEa & & e 3raa & d-d T5oT & e 197 787
G

A) [Ti(HsDW}" B} CoFs”

C) [CulNHak]* D} MnOa

ASE0TE [ 1238992
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WIS o - TN WIS U AT AR

B3) Match List I and List Il and mark the correct answer,

w1 AT g= 0w Pem fifae it s R
EAIE LY

List 1 (Winds) List 11 (Locations)

| 1 (T T 11 (e

a  Chinook /s I Alps/ MT&=q
b Fochn / S0 2 India/ 39
¢ Sirocco / FATERY 3 USA/ wAfEe
d Loo/T 4 Egvpt/ EaEs

A) a=d, b=2 ¢=], d=3
C) a=4,b=3,¢c=1,d=2

B) a=3, b=4, ¢=2, d=|

P:-} a=3, b=, c=4, d=2 J

84) Gliders depend on the following energy for their Might:
TAEE HU=T 33 & far Pefafaa e s o el

. —
A) wind energy B) chemical encrgy
TE Al TETEEE S
"-T:] heat energy D) clectrical energy
Ay FA frega 54

85) Who established the Sadr-Diwani-Adalat during the British
East India Company’s rule?

s R s ST Fa A
HeT-Erarat- 3T & Furger feas & e

A) Dalhousie | STt B) Comwallis / 5 afam

87) Copper substances when exposed to air gains a green coating
due 1o the formation of:

ar Tered gar A we TEe 9T e Stor & oy
& g AT Y
A) Cusily

\B} CuCOg. Cu(OH)2

C) Cu(NOg)z D) CuO

88) The period of revolution of a cerain planet in an orbit of
radies B 15 T. Its period of revolution in an orbit of radius 4R

will be:
TeReit arg <7 T R oy e & aieear aafo 1§ B
AR T FEI A giAr Hafh e g
A) 2421 B) 4T
@ D} 8T
89) percent of Delhites are suffering from Asthma and
REhinitis.
et wieem Redand sy it amaniy
(TrgeTTgieE) @ awT @2
A) 12% B) 10%
C) 13% W

90) Which of the following human genetic disorders s
sex-linked:

A i Tt & 4 wlad ee medr dea
Fheti

A) Haemaophilia

B} Albinism

T
€) Warren Hastings / &= D) Wellesley / dFH™ TR a L FUTRERAT
L-_________E: T C) Cystic librosis D) PKU
& AT
86) Which state’s High Court imposed a complete ban on all
types of buffalo and bull fights in the siate, stating that it is
against the Prevention of Cruelty to Animals Act, 19607
fore T & 30w FuraY & e & ol g & At i
A= 72 97 98 s & wioEy s & fr og mph &
gfer 2o & Ao wiefaas s F Beg
A) Himachal Pradesh B) Maharashira
femraw w2 HERTSE
C) Kamataka D) Tamil Nadu
FAEE AffeTs
l‘E.‘E.": B
9T Ergqﬁ?—-\ﬂ.
AS2016 | 1236992 BTy, PT.O
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T & WTHT WA T AT AT

891) Equilibrium output s determined by:
HFENEEYT 3212, 1 v e e arar iy

A) the equality between total  B)  the equality between total
cost & total reveune. Vanable cost & Marginal

oot e Mg e eV
AN — qut gftat @ sl
HHATT T & &

SN HHATAN

the equality between D) the equality between

Average cost & Average Marginal cost & Marginal

revenue. revenue.

e s R e HHTE @ ¥ HAe

T F d‘rirmmw_[___ AT o drd FHAT

892) Apart from the availability of raw material location of an
industry 15 also dependent on the availability of:

weel FAIW ) ITmEal & Warar et seder & v o

T Foeewar oF i s iy
A) transport and bio energy B} water and inputs
aftageT vd St Taft =T AT e
FC] man power and energy D) enviornmental protection
SOURCE & vegetation
7= ofaa dR IS A wrEor HIEr i
=i

93) Cancellation of thread occurs only when it reaches a :

T2 & T O Yg e 91 I AT 2T i
A) Target point B) Virtual point
as g T fag

| C) Cancellation point

e g

D)} Emor pomt

ke fag

[

94) Which of the following plant hormones are mcorrectly
paired?

FefRadsshddv Semmmmagaal
A} gibberlins- bud and seed

dormancy

e ra as i ds
ST

C) coviokinins- seneacence

B) auxins-apical dominance

HiEwT- viTa SR

D} abscisic acid- transpiratio

95} Whi 15 the author of the new book "Knowledge Innovalion
Strategy™?

“Hietot AT FEEAT ATHS o5 Thos & au® S &7
B) Parag Kulkarm

A) Ravinder Singh

s e I el
) Danoy Datta D) Amish Tripathi =
ERAT goell i Py

96) The weight of a body at the centre of carth is:

feralt T & et et & &g A e T &7
A) twice the weight at the B) -half the weight at the
surface surface
HAE 9T a0 W I HAE 97 30 H e
C) infinite D) zero
sreftfare U

a7) Who among the following was ruler from The Kushan
dynasty?

T a7 8 & aras T I §
A) Khadphises | / GERRE ,EJ B) Danti Durga / gl ot

C) Push b E“'ﬁ? D) Vikramaditya /
}'ﬂm”rﬂ f
\F-F 2 =]

98) Which Article of the Constitution deals with fundamental
duties:

HTE F7 ol HgT0E FF Foredl H JaEUd £
\‘"‘1' Article / 3IE3Z 51 nJ B) Anticle/ 3rgedE 50
€} Anicle / 377702 25 D) Article/ 37502 30 A

99) Seventh schedule of the Constitution of India deals with:
NI & wfdus i gradt xqae e sefta gy

A) Allocation of Seatsinthe  B) Powers of the Governor of

Council of States the State
=g gftwg & H@et & =TT #hr gt
HiEesT

‘D) Distribution of power
between the Union and the

States

e T =gt & Ay

C) Power and Authonty of
the Muncipalities

o urfear st & ufEa

T =T
aeiffan- aden Tediias uide- arfFa a7 ST
- r'-"-.-‘_-I.--I—l ‘h?__ .I
ASIHG ) 1238907 A4 : P.T.O
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100) What was the rank of India in Human Development Index
according o the Human Development Report released by
UNDP in July 2014, which covered 187 countries?

Fars 2014 A gueadd gann s Aee Rew o &
Hear A Rww gt & B g s arafae

o arar ur, e i i Far A
A) 140™ B) 73¢
140 4F 73 df
D) 130™
130 #t

-

P.T.0
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BT T - Ay sy

i ol o o o i il

Part C :Quantitative Aptitud

WA 3T ; HTeTE e

Question Nos.101 to 104
¥ FEAT 101 F 104 TF

Directions / f2der: The data given in Bar diagram relate

to the department wise admission of 320 studenis lo
BSc. (Honors) first year classes of a certain college in
the given five subjects. Study the graph and answer the
queashion.

&7 rEETHE A Br av anwd et sids & S
(HTTH) FY T¥HE ¥ F w2t & 320 oAt & qr
fawat & Rarrare ader & aaftq §f are @ seager
Ffarer vl F Ieav v

B0
70 DMALE STUDENT
62 61 () o
60
BFEMALE STUDENT
0 (weigem) e
40 k" |
0 ¥

30 26 4
20 15 18
w i i

0

T PYSCS | OHEMSTRY MATHEMATICS STATETICS | ECONOMCS
ey =) fep b | ATETET MEYTET

101) The total number of male students who got admitted in
Mathematics and Economics as compared to the total number
of female students getting admission in Mathematics and
Economigs is:

71TOTa T ardhre 3 oy & arel (w e ot
T HEAT T Joiell # 1107 HT 3 7 wder &+ arey

(&%) OTaT i T FEar Rhaer &7
A) more by 12.8% B} more by 14.8 %
12.8 % HTEF 14.8 % yftrs
C) less by 17% [’ﬁﬁm
17% &7 4.2 o, H=

102) The subject which the female students are finding difficult as
compared to other subjects is:

(aafier) Tt @) s Rt fr gear A few Rwa i
wisaArd g it it

, A) Chemistry

B) Mathematics

aforE
C) Economics D) Statistics
I AiTEHr

103) The difference of the choice of the subject between male and
female students is maximum for the subject,

(g@w) o e afgan o e Ry S gaa A

3iere P Farw 3 3ifaat &7
A) Economics B) Physics
e wifar
C) Chemistry D) Statistics

104) The subject in which the difference in the number of male
and female students is minimum in:

(gow) orEt oF (AR ot & dear & o e
g & AR B

A) Physics B) Statistics
wiforr AifEahr

C) Economics D} Chemistry
e T

105) 11 cos® + secO= 'ﬁ_ then the value of (cos?® + sec@) is:
TR cos® + secE= 3 AT (cos?® + sec®) T AT F4T

gem
A) | By _L
¥z
c) 7 D) o

106) The total surface area of a right pyramid on a square base of
side 10 ¢m with height 12 cm is:

10 A#AT T Fur 12 Fh Hr Fard ard aiER U
o7 oA fufaE & 5 aar dawa Far s

260 square cm | FaT T B) 360 square cm [ aar !'ﬂﬂ

A)

C)

330 square em / XA OV 300 square cm / 9t A

AS2016 /1236002
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T W ; FETE St

107) 5 car completed a journey of 400 km in 1272 hrs, The first

34 of the journey was done at 30km/hr, Calculate the speed
for the rest of the journey.

U F A 400 FrATRramar 2l o gy fn g O,
T 30 o o g2 & & ag) v I & Ae s frafy
T ruTer A

A) 25 km'hr B) 40 km'hr
25T i 40 et afeaa
C) 45 km/hr D) 30kmhr
45 Fordt ufcrmer 30 fardT afer g

108) By sclling an umbrella for T30, a shop-keeper gains 20 %,
During a clearance sale, the shop-keeper allows a discount of
10 %. Find his gain percent during the sale season,

U ZEIE 1 T30 3 O &9% 97 20 % & Hidan
A Rerm AR FTmT s RrgE T h e E

g s #iiEm afawa 7 fifam
A) 7 B) , 1
To) s D} 9

Question Nos. 109 fo 113
Y5 FEaT 109 & 113 %

|Directions / A& The Pie-chart shows the resulf of a

survey among 119060 people concerning the use of
tobacco. Study the Pie-chart and answer the guestion,

G- H JEE # JFT FA ¥ Fag 119060 Fh9F
& wdwor & QT o @it gwiar amr # areand v
YT AT I vE F 35w M

OTHER TOBACCD HABRITS
BiDI N
i 1 30Ea A
PiRE %0° 35," WTTHDUT SAACING
HABIT
I 26° Iﬂc e
1\___;; it W
1807
CIGARETTES
faaie

AS01E 1206002

109) Let P be the percentage of people using Cigareties, Pipe and
Bidi as their smoking means and ) be the percentage of
people using other means as their smoking habits. Then P is
more than () by:

A e p o FR F wiaee & 3 g & R

T, giey 3t @ & daw Fa B i Q d et

afaare & S yeaars & A we fdr svame & daer

&1 P Q @ frawr w7
A) B5%

110) Number of Cigarette smoking people is greater than the
number of pipe smoking people by:
TrrTe e arer & &y HEaT Sy 1 dae 49 ard @

A sl e 7

B) 25%
D) 10%

A) 29765 B) 11906
C) 59530 ] D) 47624

111) Number of people preferning Badi is:

#rdy Y=y arer et i da feae
C) 29763 D) 35718

112) Percentage of people under survey, who do not have any
smoking habit is:

aderor & eler O St wfta @ & B Rl o

WHIT 3 ST T HEF A6 &7
IA] 59 B) 52%
C) 0% D) 7.5%

113) Number of people smoking Cigarettes is:

Tt et arar Sl fr mwan e i
A) 53905 | B) sus30
C) 59305 D) 11904

114) IF sec@ + 1@
AT secH + tand

2. then the value of sin® is;

- 2,97 siné T AT #47 gem?

ITE B) 4
5 5
C) : D} /3

5

#.1.0
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WIAT 1 - wwTen aiaeie

115) The ratio of inradius and circumeadius of an equilateral
triangle 1s:

Tt Tamegaira e & af: Rsr s ot B
HeAdTH F97 g

A) J2: B) 2:1
G 1z

116) The simple interest on a sum of money for 3 years is 2240
and the compound interest on the same sum, at the same rate
for 2 years is T170. The rate of interest is:

Tt e Ty o1 3 o s auReT s 2240 F AR SE
U T O 2 & 1 36 &Y W e = 7170 s
cafed s gy

1
A) 121, B) 554
2 17
C) 8% D) 2914
[
117) In a factory, the salary of cach worker 15 increased in the

25 but the number of worker is decreased by
262/ 3%. The net eflect on the salary is:

v el A velw FET A dae 22025 F Ea A
&g 2 AT fg et & wwar 262/ ver R s

ratio 22 :

o a7 9T Raw v Far g
\ A) 13 EFE-'E decrease .l'?\ B) 20 % increase / afe
{:} % decrease /| HHT D) 10 % decrease / %

q

118) In the adjoining figure £AOC =140° where O is the centre
of the circle then ZABC is equal to:

Teddl WPTA ZAOC =140° &, Tl 0 gea &1 Fg fg
& ar £ABC Prad ey gen?

rd 2 _-Hx
f L
P
L 14!]
A __;;/’
A 10
C) e D) 40

T19) Ifx + 1 = -2 then the value of x# + x9 is:

X
{(where p is an even number and q is an odd number)

IR Irx + 1 =-23% x + x9 T B F47 g
X
(TET p wREET AW g P dwar §)

A) 2 B) -2
C) D) O
120) If e + @ = 711 and tan® = 43, then the value of tana is:
12
AR a+O=7 11 3T 1an@=43, AT 1anc F AT FATEET?

12

A) 1 B} L.

'E
c) o D) 3

121) A sells a car priced at 236,000, He gives a discount of 8% on
the 1™ 220,000 and 3% on the remaining T16,000. B also
sells a car of the same make, priced at T36,000. He gives a
discount of 7% on the total price. Calculate the actual prices
charged by A and B for the cars.

A T 236,000 A 4907 § 9% IES 220,000 9T 3%
# O & & AT My 216,000 9T S FT WE T E B
3 36 A A F 36,000 F T {9 T A5
T 7% P PE LAt A M B ZE R & fav agw
1 13 TR HART T
{ A) A=T33.600; B= 733,480 j B) A-33.450; B= 233,650
C) A=T33480; B=233600 D) A=233,500; B=1733400

122) £¥ is the right angle of the triangle XYZ. If XY = 246 em
and XZ-YZ=2cm, then the value of (secX + tanX) is;
2Y TS XYZ 1 GHE0 #) 3% XY = 206 cm 3R
NZ-YZ=2cm, A (secX + wanX) & AW FGT gHEm?

A) 26 By _L.
V6
- (0 & |

-5
=qT =

AS20TE | 12369492
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T o ¢ e Mt

123) Let ABCDEF be a prism whose base is a right angled
triangle, where sides adjacent 1o 90° are 9 cm and 12 cm. I
the cost of painting the prism is €151.20, at the rate of 20
paisa per 5q cm then the height of the prism is:

A R ABCDEF U Wew ¢ foeew amu aafra
Frs & oy 00 aeee AT 9 em MT 12.em B
ofE W=7 F1 TR A& JEa 20 9 wfy = ah &
ZT W TW51.20 & A Wew & Fog TR &7

A) 17em
C) lbem

B) 18cm
D) 15¢m

124) A sold a watch at a gain of 5% to B and B sold it to C at a
gain of 4 %. If C paid T91 for it, then the price paid by A is;

A TEHETH 5 & AR TR & d iR
I 4% & WPEW o ¢ F 39 Ean o ¢ 7 WE
fAT 201 3oy fFo ar A & 3udr gt frag e &

i
A) 75281 (B) 28333
c) %3 D) T84.33

125) The base of a right prism, whose height is 2 cm, is a square.
If the total surface area of the prism is 10 em?, then its
- viplume 15:

a1 Oon & adr Sk 2om &, U @ # o
fow & o wog e 10em? &, @t IEF HgaE

4T EE?
A) 1em? B) 2cm?
¢) dom?

125} A, B and C working separately can do a piece of work in 11
days, 20 days and 55 days respectively. In how many days,
the work will be completed if A is assisted by B and C on
alternate days?

A, B3R C ¥E9-HE9 &IA & Tl & 51 s
a0 sRadwsasa ot sike
e e o0 A & HErEar & O = fhae | A
3T B S
A) 2
C) 4

B) 6

127) In AABC, the line parallel to BC intersect AB & AC at P&Q
respectively, IFAB : AP=5: 3, then AQ : QC is:

AABC &, BC &Y TATET 1@ ABTF AC & FAM: P
THQ U7 Feh BT’ AB:AP=5:3 ¥ .8 AQ:QC
1 gy

B) 2:3
c) 1:2 D) 3:5

128) Simplified value of the following expression is:

el & weiga A 91 g 7
P SR 3 " i
fn-2m 12 seals
) 7 B) |
€ {5

129) The average age of husband ,wife and their child 3 years ago
was 27 years and that of wife and the child 5 years ago was
20 years. The present age of the hushand is:

iy, afeer 3 3o ave iy v amg 3 ad o 27 Ak oy
HT ot v T #ir 3taa g 5 3% ofF 20 3% o4 of
AT Mg T &

Al 35 years [ag

—[_B'-' 40 years / %

) None of the options / f&T D) 50 years / 9%
e fawedt & &
Erd]

13ﬂ:| The sum ol 3 consecutive natural numbers divisible by 3 is
45, The smallest number is :

3 ZET TS 3 TR W WEATHT & AT 45 &
FELH T F41 gty
A) 3
C) 18

B) 9

131) I the difference between the average of x, y and v, z is 12,
then the difference between x and » is:

afE v,y My, 2 F daa & &g a2 Ear it
# drT WaT F=4r g
A) 12
C) 6

B) 4%
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Part G :Quantitative Aptitude

T o HErrE whaehy

132) In A ABC and A POR, £ B =2 Q, 2C = ZR. M is the
midpoint on QR. ITAB : PQ = 7 = 4, then

arca ( AABC ) is:
arca { A PME )

AABC HTAPOR A, £ B=20Q, 2C=<R EIQR W M
aen B ol AB PO =74, O PaRfET T

B
BT ( AABC )
ETEE ( A PMR)
/ﬁ/A\ ﬁﬁ:‘ ;bh
B caQ 'm R
% 8
C) 33 D) 49
& ]

133) Given 22443467+, 440 = 11480, then the value of
13623543 2%,.......... + 207 i5:

AT TR 22042065+ 4407 = 11480, &Y

124284328+, +20% ST AT 41 gAY

A) 2867
C) 2869 D) 2868

134) Present ages of A and B are is the ratio 5 @ 6 respectively.
After seven years this ratio becomes 6 : 7. Then the present
age of A in years 1s;

AT B R TTAR W FAT: 56 FHIGUA AL | A
aY aZ IE AT 62 7 8 Far ) @ A Fr adae g
e ad 1 i

l‘”':' ijmfﬂ'l B) 33 yrs sk
C) 32yrerad D) 30 yrs/ ok
135) The value of following is:
T« A a g
J1:+1312+4n+.
A) 22 B) 23
BE ( D) 2

136) An item is offered for sale at T250, less successive discounts
of 20% and 15%, The sale price of the item is:

1S A A A 2250 Fr w7 & 3w & 2000k
15% @ FaEHE g ot & o aeg f R
FrAa T grie

A) 77 % of 1250
T250 T 77 %

B) 22001 7250
TI50 FTR2 %

D) 68 % of 250
T250 FT 638 %
137) P5 is a diameter of a circle of radius 6 cm. In the diameter
s, O and K are two pomnts such that PO, QR, RS are all

equal. Semicircles are drawn on PO and Q5 as diameter (as
shown in the fig). The penmeter of shaded portion 1s:

PS 6om TI90T 9T Ted o SUTH B PS =TH A QAT
R & fig sw oo & & PO, QR RS &9 a0y B
=E & w9 OA (JE & argfa A v o ) ro
T Q8 9T WY geq g AT B oifda Hy @
gAYy &1 g7

C) 635 % of T250
T250 T 65 %

R
Al '.|'5__3_¢|1:| E] Iﬁﬂicm
1 7
d
C) 37 i-u:m o) !Hir:m
7 l
138) The value of following is:
FfaET s AT T i
Sin) cosec tand ool
sinE 4+ coste
A) 2 B) tan®
[ ¢ l D) 0

AS2018 [ 1236502
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Far C :Quantitative Aplitlude

ST ;AT afirety

139) A can do a piece of work in 12 days and B in 24 days.If they
work together,in how many days will they finish the work?

A ama 12 Ra s 4 R A ST award
e BT Fw I A o EH S e R d gy
o

Al 15 days ) e
C) 12 days/ Bem

B) 20 days/ R
J D) Hda}'s."ﬁﬂ}

140) If the area of a square 15 increased by 44 %, retaining its
shape as a square, cach of its sides increases by:

afe; Frel a9t &7 8T 38F a1 F HIHH & a0l 199
BT 44 % T o Fe & weds g R v e
e

A} 2% B) 21%
C) 19% D) EWF
i

141) If p(x + ¥ = 5 and q (x - ¥)* = 3 then the simplified value of
PP (x +¥) 2+ 4 pg xy - g2 (x - y) 2is:
T pix+yE=5HTq(x-yP=3,4r
P (x +y)? +4pgxy-q?(x-y)? FEEGS A FI
e

C) -(p+q) D) Zip+q)
142) If % = '::II'? ¢ 3 then the value of x* - 9x% + 27x -34 is:

ﬂﬁ'x='?._~ri.H’Fx’-‘?x’+2?h-34ﬂﬂl=rwm.’
A) 2 B) -1

c) |

143) The radius of a wire 15 decreased o one third. If volume
remains the same, length will increase by:

fardlt o Fr P o foes s Sr I B ol
O 9 T o dars et ag S

Al | time /e B)

r_ﬂ_'?linmf '-f;ﬂ'l'll

3 times / (U1

D) 6 times / 7om

144) A train 150 meters long takes 20 seconds to cross a platform
450 meters long. The speed of the train in, km per houwr, is:

U YIS Y 450 HieT o coewd & e # 20 9
1 THY AT &) Yo & o et oot o aa i

B) 100
C) 1o D) 104

145) I 12427432 ... 4p7 = p (p+1) (2pt1)
]
then 12432452+ +172 is:

i 12422437+ 4pP = ppt1) (2pe1) A
[V
12324584 +|T? T AT\ 4T £1907

A) 1700 | B) !?aif

C) 969 D) 980

146) The value of following is:
Fmfaias &1 A Far g

0.2 x 0,02 x 0.002 x 32
O x 0.0 x 0,004 x 16

A) (.40
C) 0.25

B) 0.20

147) A certain sum of moncy amount to 2200 at 5% interest,
T2320 a1 8 % imerest in the same period of time. The period
of time is:

U & FHATET 37 18 USTT 5% & e 9v 2200 T
§ % o ST 9¢ T2320 B A ) aEaaie i

A) 5 vears B} 2 years
| C) 4 vears D) 3 years

148) Three containers whose volumes are in the ratio of 2 : 3 : 4
are full of mixture of spirit and water. In the 1* container, the
ratio of spirit and water is 4 : 1, in 2™ container the ratio is

11 : 4 and in the 3™ conmainer ratio is 7 ; 3. All the three
mixtures are mixed in a big container. The ratio of spirit and
water in the resultant mixire is:

et STt T W 2030 4 & WO A §, TR
T ol F Faor & 9F HY gU & OEd FeAH
Teaite 3 ol & e 401 & gy S A
HAIE 11 : 4 § Ay dat s A waaa 73 et
& Feor &1 v @ a7 e B s §) aftomd
fAraor & fafe s ol &1 angare @ g

B} 4:9

A) 9:5
C) 5:10
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Part C :Quantitative Aptitude

W 7 ; dETTRE gt

149) AARC is right angled triangle with AB = 6 ¢cm, BC = 8 ¢m,
) 13 the m-centre of the triangle. The radius of the in-circle is

AABC T gl Ra g fSasT AB = 6cm, BC =38
cm 8] O FI8= &1 35 &y &) afts oo fr Rsara

grfr
C
gCM
i
F-
& CM
B) ‘Som
C) 4cm D) lcm

150) The value of x in the below equation is:

fer o FHETEIOT 7 x F AW FT ETY

l}.é+l}. 6+ l].';'+=l].ﬁ = X

2> 248 |z2

10 3
A) B) / o

—

D)
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Part D :English Comprehansion
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Part D :English Comprehansion

Question Nos.151 to 155
NPT §E4T 151 & 155 9%

Directions / fAd#r: In the following passage some of the
words have been leff oul. Read the passage carefully
and choose the corracl answer lo each question out of
the four alternatives and fill in the blanks.

Passza

I's soccer's newest power player; a ball called the sOeccket
generates and stores energy as players kick it, then provides
encrgy al home. Fifleen minutes on the field 1_enough
| energzy o power a small light for three hours and may help
people in developing nations like India_ Il kerosene, a
| leading cause of Il illness and fires. Working on the
principle of flashlights that charge when shaken, the sOccket is
fthe IV of Harvard students Jessica Lin, Julia Silverman,
Jessica Matthews and Hemali Thakker and is being_ V' by the
[Clinton Global [Initiative University and the ‘Walman
Foundation,

151)

A) (I) reserves

C) (I) caplures (I} conservis

152)
A) (I restore B) (I} supplant
) ({10} replace i D) (1) substitme
l 153)
A) (1) respiratory lFE] {111} pulmonary
C) (I cardiac D) (NI) cardio-vascular
154)
A) (IV)achievement B) (IV) branciald
C) (V) output D) (IV)inventory
155)

A) (V) promoied
C) (V) financed

[_E} (V) funded
0} (V) sponsored

Question Nos.156 fo 160
V5T HE&4T 156 & 160 7%

Directions / fder: A sentence / a part of the sentence is
underiined. Below are given allemalives lo the
underined part which may improve the senfence.
Choose the correct alternative. In case no improvement
is needed choose “No Improvement”.

156) College students went at the rampage in the city vesterday.

A) over the rampage

I €) onarampage |

157) You cannot forbid him lcaving,

B) No Improvement

D) with the rampage

A) his leaving B) he leaving

C) him to lcave D) No lmprovement -Il

158) 1 would pladly sccompany your sister if you had asked me:
[_A.'_l would have gladly l

B) would gladly accompanied
accompanied

C) Nolmprovement D) will gladly accompany

159) Helen Keller's efforts to rehabilitate herself despite her triple
handicap.

F'_I reinstate

C) No Improvement

B) readapt

D) manage

160) I met the two girls, which | believe, are identical twins,
A) who, o my belief, are
"::1 who, I believeare |

B) whom, | thought are

D) Mo lmprovement

AS2018 /1236992
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Part D :English Comprehension

AT 9 ;AT e

Question Nos.161 to 165
vrT FEAT 161 T 165 7F

Directions / IR&e Read the passage carefully and

choose the best answer o each question out of the four
alternatives and mark it by blackening the appropriale

Question Nos. 166 to 170
§¥T T84T 166 T 170 %

Directions / l3der Four alternatives are given for the

Idiom/Phrase undedined in the sentence. Choose the
alternative which best expresses the meaning of the

circle in the Answer Sheel, Idigm/Phrase and mark it in the Answer Sheet.

Passaee

Fat comes in two types; Omega-3 which is found in marine life 166) God's acre refers to which of the following places:

and Omega-6 which is concentrated in vegetable oils. The first A) Altar (BI' A cemelery beside a _\
13 good, the other is plain rotten. The best source of Omega-3 Church

i5 preferably sea-fish. But frying it in Omega-6 rich vegetable -
oil kills all its goodness. C) Aisle D) Church

Ageing brains have low levels of thiamin, which is

concentrated in wheat germ and bran, nuts, meat and cereals. 167) She w * N =)

More good brain-food comes from liver, milk and almonds,
which are rich in riboflavin and extremely good for memory.
Carotene, available in deep green lealy vegetables and fruits, is
also good for geriatric brains, So is a high iron diet; it can
make old brains gallop hyperactively like yvoung ones. Iron
{comes from greens; liver, shell-fish, red meat and sovabeans.
Sea-food, very high in iron, is an excellent diet supplement.
The New England Journal of Medicine reported in its May
1985 issue that 30 grams of fish a day could result in af
dramatic drop in the chances of acquiring a cardiovascular
discase, Sea fish, particularly shell-fish, crabs, mackerel and|
sardines, are more effective than riverine fish because the C)
latter is more vulnerable to chemical effluents.

A} sat on the shadow of the | B) quwrclt:dm':rtriﬂil
ass

C) quarrelled like fools D) did unnecessary work

168) To pui one's hand 10 plough

A) totake up agricultural
farming

B} take interest in technical
work

| D) 1o ke up a difficult sk

to get entangled into
unnecessary things

161) 30 grams of fish a day could result in:

[11

C) an increased chance of
acquiring heant disease,

169) To pick holes

adrop in the chances of | B) an increased chance of
getting heart discase. acquiring lung discase.

D) adrop in the chances of
getting lung cancer.

A) to find some reason to
quarrel

B) to destrov something

C) to cul some part of an ilEnl‘E] Lo crilicise wmmn-:_\

162) The best source of Omega-3 fat is found in: 170) He is like a Snake in the grass for our family.

A) all dairy products B) vegetables

I D) sea fish

A) a distant relative

lt_:} a hidden rival

B) aclose friend

C) eges only

D) astupid person

163) "Geriatrics’ pertain to:
A) new bom babics
C) 1oddlers

Question Nos. 171 to 175
VT FEIT 1T 175 3%

Directions / fader: Choose the word apposite in

meaaning to the given word and mark it in the Answer
Sheel.

B) adolescents
i—D] old people

164) Cardio vascular relates to the:

A) hecart and tendons 171) Profuse

C) heart and cartillage

B) hecart and muscles

A) Sacred
C) Adverse

rﬂ-] ‘Meager
. D) Ambiguous

D} heart and blood vessels

165) Almonds are rich in nboflavin and are good for:
A) anacmia

C) leukaemin

B) slecp walking

gar
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Part D :English Comprehension

| o - ST e

172) Agony
A) Somow
C) Conilict

B) Misery

173) Subsequent

A) Inferior
C) Aloof

B) Preceding

i)

D) Dismissive

174) Erudite

A) Professional B} Umnimaginative

C) lgnorant D) Immature

i

175) Redundant

B) Wordy
D) Concize

A) Repetitions
C) Surplus

i

179) The thiel did not know that there was a dog laying under the
tablc.

A) No Ermor B) The thief did not know

G) laving under the table D) that there was a dog

180) Before we returned from swimming in the river near the
camp, someone had stole our clothes, and we had 1o walk
back with our towels around us.

A} Before we retumed from | B} someone had stole our
swimming in the river nca

the camp

andd wie had to walk back
with our towels around us,

C)

D) Mo Error

Question Nos.181 to 185
¥r waar 181 & 185 a5

Directions / f@&er Four words are grvan in each
gqueshon, out of which only one word is commectly speit.
Find the cormectly spell word and mark your answer in
the Answer Sheet.

Question Nos.176 to 180
TF HEIT 176 & 180 7%

Directions / e Some part of the sentences have
ermors and some are comect. Find out which part of a
semnfence has an ermor and blacken the circle

* |corresponding fo the appropriate correct option. If a
sentence is free from error, blacken the circle
cormesponding fo “Na Error” option in the Answer Sheet.

176) Long hife is good if one be happy and has friends.
1.#.} if one be happy
) Long life is good

B) Mo Eror

D} and has friends.

177) Had vou participated in the drawing competition, you would
have won the first prize.

A) in the drawing competition B) Had you participated

F'_I o Ermor

D) you would have won the
first prize

178} He went to the doctor because he had not been feeling well
since several weeks,

A) since several weeks [ B) He went to the doctor

D) No Error

G} because he had not been
fecling well

181)
h; Psewdonym B) Soodonym
C) Pseudonymn D) Seudonym
182)
A) pourmendize B) pourmandize
C) gormandisc D)} gormandize
183)
A) zenofobia B) senophobia
C) xenofobia D) xenophobia
184)
A) apparance B) Hrlrﬂ.‘illill'li:l.‘J
C) apearance D) appiarance
185)
A) conoisseur B) connoisure
C) connoiseur

I—D} COMMOH ST !

-
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Part D :English Comprehension

W o ;s it

Question Nos.186 fto 190
YT HE9T 186 & 190 %

Directions / R Sentences are given with blanks fo
be filled in with an appropriate word(s). Four alternalives
are suggested for each question. Choose the comect
alternative out of the four and indicate it by blackening
the appropriate circle in the Answer Sheet.

186) The man was absorbed his work.
A) into B) at
C) with t D) in

187) Your friends think you are conceited because you seem 1o

___ them.
A) Patronize B) Penalize
C) Cheat | D) Emulate
188) He read thatare 1o his profession.
A) Weeklies ; appropriate B) Magazines; acceptable

C) Papers; apparent D) Penodicals; [n:r‘lil'n:nl—\

189) I him for the post he was very aclive.
A) Commended; even though B) Admitted; but

{_ﬂ} Recommended; because | D) Acknowledged; and

190) The Press is supposed 1o be a means of
government and the

bBetween the

A) Propaganda: private sector B) Confrontation; terronsts

C) Communication; p-:nmflf:] D} Help; society

Question Nos. 191 fo 195
T HEIT 191 # 195 a%

Directions / @@ Out of the four alternatives, choose

the one which best expressas the meaning of the given
word and mark it in the Answer Sheel.

191) Spectrum
A) Star
C) Specific

B) Telephone

!D} Range l
]_E] Authority l

D) Cabal

192) Regime

A) Cligue

C) Gang

193) Stringent
A) Farfetched
C) Ewident

1 B) Strict

D) Compulsory

194) Sporadic

K B) Epi:lmniuj

D) Occasional

A) Stagnant
C) Whirling

195) Connote

A) To conspire
r'l:} To convey

B) To pnnt

D) Topay

Question Nos.196 to 200
YT F&gT 196 & 200 A%

Directions / @& Out of the four alternatives, choose

the one which can be substituted for the given
words/sentences and indicale it by blackening the
appropriate circle in the Answer Sheet.

196) The science of the functioning and growth of society.

A) Philosophy B) Psychology

rE] Sociology i

197) A person between 90 and 100 years old:

C) Anthropology

A) Octagenanan
ﬁ Nnnagmﬁmi

198) Change the appearance to deceive or to lnde the identity.

B) Centenanan

D) Septagenarian

A) Insplay

199) Reasoning method involving two statements from which a
conclusion s reached:

A} Logism
C) Rhapsody

B) Dupe
D) Dissemble

ll-_E] Hyllngiml-‘l
.D] Rheotoric

200) Those who pass through this gate without permission will be
prosecuted.

A) Absconders

| C) Tresspassers

B} Culpriis

D) By passers
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